Modular Origami Canada Goose
Design by Steve Bondy
http://stevespaper.com

You will need 3 different sizes of triangles, made from 3 sizes of rectangles. These are approximately
The sizes that | used, giving a finished goose about 18 cm long with a wingspan of about 17 cm
small 3.5x5.5cm (1-3/8" x 2-1/8")

medium 4.5x7 cm (1-7/8" x 2-7/8")
large 55x7cm (2-1/8" x 2-7/8")

Pattern

These two pieces are reversed _—»

See diagram below sSW Legend # Required
sb = small black 21
sw = small white 1
mb = medium black 3
mn = medium brown 7
mw = medium white 3

= large brown 29
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Use glue between the wing pieces to hold them

in a pleasing shape. They will look terrible
if just left to their natural shape. /

Note that the last piece of the wings is a medium brown, not large

Pockets
wll—Folded edge of triangle

Bill cut from a small black triangle

Finishing the head
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Use a marker to color the small white
piece black, leaving only the indicated
white patch.
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